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1. Give the structures of the products of the following reaction schemes.
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9. Give the structure of the product of each of the following reactions
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3. Show how you would use Ritter reaction to p

What is the use of Ritter reaction?

repare {CHg)aC-NH2 from (CH3)3COH
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4. Show how you would carry out the following syntheses. :
(40 Marks)
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1.
(@) Refer page 45, Unit IT
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(c) Refer page 52, Unit IT

2.
(1) Refer page 57, Unit IT

(ii) Refer page 60, Unit IU
- (iii) Refer page 111, Unit II
(iv) Refer page 64, Unit 1T

() Refer page 66, Unit TII

3, o (or gC=n )
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The reaction between tertiary alkyl hatides and ammoma will lead to the elmnnaﬂon .
product, rather than getting the tertiary amine.
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